EREENER BhA) (%114 F4 8 1 HIRET)

LDR HfE 3% (1) 18 11, 000M
(2) 1H 8, 800M
(3) 18 13,200M
95 8l = i) = 18 8, 800H
1 ANBBE i) 3= 1H 4, 400M
12% 18 4, 950M
19%= 1H 3, 300M
REE = 18 4, 950M
4% 1H 4, 400M@
MR | mEeE | mmAk | L HBED miR | mEEm | mEAzk | LASED
&H &H
3018%= | 1AZE |3,300M 5018% 1 AEBE 3, 300M
3028%= | 1AZE |3,300M 5028% 1 AEBE 3, 300M
3038%= | 1AZE |3,300M 5038= 1 AEBE 8, 800M
3058% | 1AZE |3,300M 5058%= 1 AEBE 3, 300M
3068%= | 1AZE |3,300M 5065%= 1 AEBE 3, 300M
i 3078% | 1AZE |3,300M g 50782% 1 AR 3, 300M
g 3088% | 1A%E [3,300M g 5088% 1 AEBE 3, 300M
3108% | 1AZE | 4,400M 5108= 1 AEBE 4, 400M
3118%= | 1AZE | 4,950M 5118% 1 AEBE 4, 950
3128%= | 1AZE | 4,950M 5128% 1 AEBE 4, 950
3138% | 1AZE | 4,950M 5138%= 1 AEBE 4, 950M
3158% | 1AZE | 4,950M 51585 1 AEBE 4, 950M
4018% | 1AZE |3,300M 012E8% 1 AEBE 4, 400M
4028%= | 1AZE | 3,300 0218% 1 ABBE 4, 400M
4038%= | 1AZE | 8,800 0238= 1 ABBE 4, 950/
4058% | 1AZE |3,300M 0258% 1 AEBE 4, 950/
4068% | 1AZE |3,300M 0262% 1 AEBE 4, 400M
X 4078%= | 1AZE | 3,300 g 0278% 1 ABBE 4, 400H
g 4088% | 1ASE |3,300M g 0288= 1 AEBE 4, 950
4108% | 1AZE |[4,400M 0308% 1 AEBE 4, 950/
4118% | 1AZE |4,950M 0318= 1 AEBE 4, 950/
4128%= | 1LAZE | 4,950/ 0328%= | LDR-3 13, 200/
4138%= | 1AZE | 4,950/ 0338% | LDR-2 8, 800M
4158% | 1AZE |4,950M 0358% | LDR-1 11, 000M




